# On finite-times degenerate Cauchy numbers and polynomials 

Joohee Jeong ${ }^{1}$, Seog-Hoon Rim ${ }^{1 *}$ and Byung Moon Kim ${ }^{2}$
*Correspondence: shrim@knu.ac.kr ${ }^{1}$ Department of Mathematics Education, Kyungpook National University, 80 Daehakro, Bukgu, Daegu, 41566, S. Korea Full list of author information is available at the end of the article


#### Abstract

Cauchy polynomials are also called Bernoulli polynomials of the second kind and these polynomials are very important to study mathematical physics. Kim et al. have studied some properties of Bernoulli polynomials of the second kind associated with special polynomials arising from umbral calculus. Kim introduced the degenerate Cauchy numbers and polynomials which are derived from the degenerate function $e^{t}$. In this paper, we try to degenerate Cauchy numbers and polynomials $k$-times and investigate some properties of these $k$-times degenerate Cauchy numbers and polynomials.


MSC: 11B68; 11S40; 11S80
Keywords: Cauchy numbers; degenerate Cauchy polynomials; $k$-times degenerate Cauchy polynomials; higher order Bernoulli polynomials

## 1 Introduction

In [1], Comtet introduced Cauchy numbers, denoted by $C_{n}$, by the integral of the following formula:

$$
\begin{align*}
C_{n} & =\int_{0}^{1}(x)_{n} d x=\int_{0}^{1} x(x-1) \cdots(x-n+1) d x \\
& =n!\int_{0}^{1}\binom{x}{n} d x . \tag{1}
\end{align*}
$$

From (1), we can derive the generating function as follows:

$$
\begin{align*}
\sum_{n=0}^{\infty} \frac{C_{n}}{n!} t^{n} & =\sum_{n=0}^{\infty} \int_{0}^{1}\binom{x}{n} d x t^{n}=\int_{0}^{1} \sum_{n=0}^{\infty}\binom{x}{n} t^{n} d x \\
& =\int_{0}^{1}(1+t)^{x} d x=\frac{t}{\log (1+t)} \quad(\text { see }[1-6]) . \tag{2}
\end{align*}
$$

Also we have

$$
\begin{equation*}
C_{n}=\int_{0}^{1}(x)_{n} d x=\sum_{n_{0}=0}^{n} S_{1}\left(n, n_{0}\right) \frac{1}{n_{0}+1} . \tag{3}
\end{equation*}
$$

In [7], Kim introduced a new class of numbers and polynomials which are called the degenerate Cauchy numbers and polynomials, denoted by $C_{n, \lambda}$ and $C_{n, \lambda}(x)$, respectively, as follows:

$$
\begin{align*}
\int_{0}^{1}\left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)^{x+y} d y & =\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{\log \left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)}\left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)^{x} \\
& =\sum_{n=0}^{\infty} C_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{4}
\end{align*}
$$

When $x=0, C_{n, \lambda}=C_{n, \lambda}(0)$ are called the degenerate Cauchy numbers.
The degenerate Cauchy numbers above are degenerated 1-time from Cauchy numbers $C_{n}$, and we denote these numbers by $C_{n, \lambda}^{(1)}$.

For $r \in \mathbb{N}$, the Bernoulli polynomials of order $r$ are defined by the generating function

$$
\begin{equation*}
\left(\frac{t}{e^{t}-1}\right)^{r} e^{x t}=\sum_{n=0}^{\infty} B_{n}^{(r)}(x) \frac{t^{n}}{n!} \quad(\text { see }[1-6,8-13]) \tag{5}
\end{equation*}
$$

When $x=0, B_{n}^{(r)}=B_{n}^{(r)}(0)$ are called Bernoulli numbers of order $r$. Thus, by (5), we get

$$
\begin{equation*}
B_{n}^{(r)}(x)=\sum_{l=0}^{n}\binom{n}{l} B_{l}^{(r)} x^{n-l} \quad(\text { see }[1-6,8-13]) . \tag{6}
\end{equation*}
$$

In particular, for $r=1, B_{n}(x)=B_{n}^{(1)}(x)$ are called ordinary Bernoulli polynomials. As is well known, we have

$$
\begin{equation*}
\left(\frac{t}{\log (1+t)}\right)^{r}(1+t)^{x-1}=\sum_{n=0}^{\infty} B_{n}^{(n-r+1)}(x) \frac{t^{n}}{n!} \quad(\text { see [11]). } \tag{7}
\end{equation*}
$$

It is well known that

$$
e^{t}=\lim _{\lambda \rightarrow 0}(1+\lambda t)^{\frac{1}{\lambda}} \quad(\operatorname{see}[1,4,10]) .
$$

The function $(1+\lambda t)^{\frac{1}{\lambda}}$ is called the degenerate function of $e^{t}$. So, for $t=\log e^{t}$, we have $\log (1+\lambda t)^{\frac{1}{\lambda}}$ as the degenerating function. The first quadrant of the following diagram comes from [7].
We extend Kim's idea (see [7]) to the $k$-times degenerate of $t=\log e^{t}$, then we have $\underbrace{\log (1+\log (1+\cdots+\log (1+\lambda t) \cdots))^{\frac{1}{\lambda}}}$ as the $k$-times degenerating function, see Figure 1 .

$$
k \text {-logarithms }
$$

In [14], Carlitz introduced the degenerate Bernoulli polynomials and explained a degenerate Staudt-Clausen theorem. Later Ustinov studied the same concept using the name of Korobov polynomials of the second kind.

Recently, Kim and Kim introduced Daehee polynomials with $\lambda$-parameter for $\lambda \in \mathbb{C}$. When we approach $\lambda$ to zero, both the degenerate Bernoulli polynomials and the Daehee polynomials with $\lambda$-parameter approach the well-known Bernoulli polynomials. We find that the differences are on the numerators of the degenerate Bernoulli and Daehee polynomials with $\lambda$-parameter.


Figure $1 \boldsymbol{k}$-times degenerate Cauchy numbers via consecutive degenerating variable $\boldsymbol{t}$.

By the use of $p$-adic invariant integral on $\mathbb{Z}_{p}$, the numerator of the Daehee polynomials with $\lambda$-parameter becomes much more natural (see [15]).

On the other hand, if we take $\lambda=1$ on the Daehee polynomials with $\lambda$-parameter, we have the generating function of the Daehee polynomials. If we take $x=0$, then we have the generating function of the Daehee numbers, which is the multiplicative inverse of the generating function of the Bernoulli numbers of the second kind (see [16]). The higher order Daehee numbers and polynomials are investigated by Kim et al. in [17].
Cauchy polynomials are also called Bernoulli polynomials of the second kind and these polynomials are very important to study mathematical physics. (See [18, 19].) In [18, 19], Kim et al. have studied some properties of Bernoulli polynomials of the second kind associated with special polynomials arising from umbral calculus.

Kim introduced the degenerate Cauchy numbers and polynomials which are derived from the degenerate function $e^{t}$ (see [7]). In this paper, we try to degenerate Cauchy numbers and polynomials $k$-times and investigate some properties of these $k$-times degenerate Cauchy numbers and polynomials.
For the application, we consider bosonic $p$-adic integration on $\mathbb{Z}_{p}$ for the same integrand function $f(x)=(1+t)^{x}$, then we have Daehee numbers which are defined in [16]. Also, by considering the degenerate of $t$ as above figure, we have degenerate Daehee numbers and polynomials. Thus we can apply our idea in this paper to $k$-times degenerate Daehee number and polynomials. Then we can get some new identities on these numbers and polynomials.
In [20], Kim et al. introduced the $q$-analog of the Daehee numbers and polynomials which are called the $q$-Daehee numbers and polynomials. By using the $p$-adic $q$-integration, the $q$-Daehee polynomials $D_{n, q}(x)$ are defined and studied by Kim and Kim (see [16]).

We also apply our idea to $k$-times degenerate $q$-Daehee numbers and polynomials. We can get interesting identities on these numbers and polynomials.

Meanwhile, the degenerate Bernoulli polynomials diverged several ways for further study. One way is the $q$-analog of degenerate Bernoulli polynomials by using the $p$-adic $q$-integral on $\mathbb{Z}_{p}$ by Kim et al. Another way is considered and studied the partially degenerate Bernoulli numbers and polynomials of the first kind and second kind by Kim and Seo in [21]. The partially degenerate one uses generating function concept on complex plane. The hidden idea of this lies on the $p$-adic invariant integral on $\mathbb{Z}_{p}$. From this idea, Lim studied partially degenerate Daehee numbers and polynomials (see [15]).

We can apply $k$-times partially degenerate idea to such partially degenerate numbers and polynomials, and we can get interesting identities.

## $2 \boldsymbol{k}$-Times degenerate Cauchy numbers

In [7], Kim considered the degenerate Cauchy numbers which are defined by the generating function

$$
\begin{align*}
\sum_{n=0}^{\infty} C_{n, \lambda}^{(1)} \frac{t^{n}}{n!} & =\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{\log \left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)} \\
& =\int_{0}^{1}\left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)^{x} d x \quad \text { (see [7]). } \tag{8}
\end{align*}
$$

The following is shown in [7], Corollary 2.2.

Lemma 1 For $n_{0}, n_{1}, n_{2} \geq 0$, we have
(i) $\quad C_{n_{2}, \lambda}^{(1)}=\sum_{n_{1}=0}^{n_{2}} \lambda^{n_{2}-n_{1}} S_{1}\left(n_{2}, n_{1}\right) C_{n_{1}}$,
(ii) $\quad C_{n_{2}, \lambda}^{(1)}=\sum_{n_{1}=0}^{n_{2}} \sum_{n_{0}=0}^{n_{1}} \lambda^{n_{2}-n_{1}} S_{1}\left(n_{2}, n_{1}\right) S_{1}\left(n_{1}, n_{0}\right) \frac{1}{n_{0}+1}$.

We degenerate $C_{n_{2}, \lambda}^{(1)}$ one more time, i.e., we get 2 -times degenerate Cauchy numbers. Then the left-hand side of (8) becomes as follows:

$$
\begin{align*}
& \sum_{n_{2}=0}^{\infty} C_{n_{2}, \lambda}^{(1)} \frac{1}{n_{2}!} \lambda^{-n_{2}}(\log (1+\lambda t))^{n_{2}} \\
& \quad=\sum_{n_{2}=0}^{\infty} C_{n_{2}, \lambda}^{(1)} \lambda^{-n_{2}} \sum_{n_{3}=n_{2}}^{\infty} S_{1}\left(n_{3}, n_{2}\right) \frac{\lambda^{n_{3}} t^{n_{3}}}{n_{3}!} \\
& \quad=\sum_{n_{3}=0}^{\infty}\left(\sum_{n_{2}=0}^{n_{3}} C_{n_{2}, \lambda}^{(1)} \lambda^{n_{3}-n_{2}} S_{1}\left(n_{3}, n_{2}\right)\right) \frac{t^{n_{3}}}{n_{3}!} \\
& \quad=\sum_{n_{3}=0}^{\infty} \sum_{n_{2}=0}^{n_{3}}\left(\sum_{n_{1}=0}^{n_{2}} \lambda^{n_{2}-n_{1}} S_{1}\left(n_{2}, n_{1}\right) C_{n_{1}}\right) \lambda^{n_{3}-n_{2}} S_{1}\left(n_{3}, n_{2}\right) \frac{t^{n_{3}}}{n_{3}!} \\
& \quad=\sum_{n_{3}=0}^{\infty} \sum_{n_{2}=0}^{n_{3}} \sum_{n_{1}=0}^{n_{2}} \lambda^{n_{3}-n_{1}} S_{1}\left(n_{3}, n_{2}\right) S_{1}\left(n_{2}, n_{1}\right) C_{n_{1}} \frac{t^{n_{3}}}{n_{3}!} . \tag{9}
\end{align*}
$$

On the other hand, the right-hand side of (8) becomes as follows:

$$
\begin{align*}
\frac{\log (1+\log (1+\lambda t))^{1 / \lambda}}{\log \left(1+(\log (1+\log (1+\lambda t)))^{1 / \lambda}\right)} & =\int_{0}^{1}\left(1+\log (1+\log (1+\lambda t))^{1 / \lambda}\right)^{x} d x \\
& =\sum_{n_{3}=0}^{\infty} C_{n_{3}, \lambda}^{(2)} \frac{t^{n_{3}}}{n_{3}!} \tag{10}
\end{align*}
$$

Thus, comparing the coefficients of (9) and (10), we have

$$
\begin{align*}
C_{n_{3}, \lambda}^{(2)} & =\sum_{n_{2}=0}^{n_{3}} C_{n_{2}, \lambda}^{(1)} \lambda^{n_{3}-n_{2}} S_{1}\left(n_{3}, n_{2}\right) \\
& =\sum_{n_{2}=0}^{n_{3}} \sum_{n_{1}=0}^{n_{2}} \lambda^{n_{3}-n_{1}} S_{1}\left(n_{3}, n_{2}\right) S_{1}\left(n_{2}, n_{1}\right) C_{n_{1}} . \tag{11}
\end{align*}
$$

Now, replacing $C_{n_{1}}$ in (11) by $\sum_{n_{0}=0}^{n_{1}} S_{1}\left(n_{1}, n_{0}\right) \frac{1}{n_{0}+1}$ in (3), we get

$$
\begin{equation*}
C_{n_{3}, \lambda}^{(2)}=\sum_{n_{2}=0}^{n_{3}} \sum_{n_{1}=0}^{n_{2}} \sum_{n_{0}=0}^{n_{1}} \lambda^{n_{3}-n_{1}} S_{1}\left(n_{3}, n_{2}\right) S_{1}\left(n_{2}, n_{1}\right) S_{1}\left(n_{1}, n_{0}\right) \frac{1}{n_{0}+1} . \tag{12}
\end{equation*}
$$

Inductively we get the $k$-times degenerate Cauchy numbers $C_{n_{k+1}, \lambda}^{(k)}$ as follows.
Theorem 1 For $n_{i} \geq 0$, for each $i=0,1, \ldots, k+1$, we have

$$
\begin{align*}
C_{n_{k+1}, \lambda}^{(k)} & =\sum_{n_{k}=0}^{n_{k+1}} \cdots \sum_{n_{1}=0}^{n_{2}} \lambda^{n_{k+1}-n_{1}}\left(\prod_{j=1}^{k} S_{1}\left(n_{j+1}, n_{j}\right)\right) C_{n_{1}} \\
& =\sum_{n_{k}=0}^{n_{k+1}} \cdots \sum_{n_{0}=0}^{n_{1}} \lambda^{n_{k+1}-n_{1}}\left(\prod_{j=0}^{k} S_{1}\left(n_{j+1}, n_{j}\right)\right) \frac{1}{n_{0}+1} . \tag{13}
\end{align*}
$$

By replacing $t$ by $\frac{1}{\lambda}\left(e^{\lambda t}-1\right)$ in (10), we get

$$
\begin{align*}
\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{\log \left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)} & =\int_{0}^{1}\left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)^{x} d x \\
& =\sum_{n=0}^{\infty} C_{n, \lambda}^{(2)} \frac{1}{n!}\left(\frac{1}{\lambda}\left(e^{\lambda t}-1\right)\right)^{n} . \tag{14}
\end{align*}
$$

By (8), we have

$$
\begin{align*}
\sum_{n=0}^{\infty} C_{n, \lambda}^{(1)} \frac{t^{n}}{n!} & =\sum_{n=0}^{\infty} C_{n, \lambda}^{(2)} \lambda^{-n} \frac{\left(e^{\lambda t}-1\right)^{n}}{n!} \\
& =\sum_{n=0}^{\infty} C_{n, \lambda}^{(2)} \lambda^{-n} \sum_{m=n}^{\infty} S_{2}(m, n) \frac{\lambda^{m} t^{m}}{m!} \\
& =\sum_{m=0}^{\infty}\left(\sum_{n=0}^{m} C_{n, \lambda}^{(2)} \lambda^{m-n} S_{2}(m, n)\right) \frac{t^{m}}{m!} \tag{15}
\end{align*}
$$

where $S_{2}(m, n)$ is the Stirling number of the second kind. Thus comparing the coefficients of (15), we have the inversion of (11) as follows:

$$
\begin{equation*}
C_{m, \lambda}^{(1)}=\sum_{n=0}^{m} C_{n, \lambda}^{(2)} \lambda^{m-n} S_{2}(m, n) \tag{16}
\end{equation*}
$$

Now applying one more time the above process, we obtain the following:

$$
C_{n_{2}, \lambda}^{(1)}=\sum_{n_{3}=0}^{n_{2}} \sum_{n_{4}=0}^{n_{3}} C_{n_{4}, \lambda}^{(3)} \lambda^{n_{2}-n_{4}} S_{2}\left(n_{2}, n_{3}\right) S_{2}\left(n_{3}, n_{4}\right) .
$$

Inductively, we have the following identity.

Theorem 2 For $n_{i} \geq 0$, where $i=1, \ldots, k+1$, we have

$$
C_{n_{2}, \lambda}^{(1)}=\sum_{n_{3}=0}^{n_{2}} \sum_{n_{4}=0}^{n_{3}} \cdots \sum_{n_{k+1}=0}^{n_{k}} C_{n_{k+1}, \lambda}^{(k)} \lambda^{n_{2}-n_{k+1}} \prod_{i=2}^{k} S_{2}\left(n_{i}, n_{i+1}\right) .
$$

## 3 k-Times degenerate Cauchy polynomials

We recall that Cauchy polynomials $C_{n}(x)$ are defined by the generating function as follows:

$$
\sum_{n=0}^{\infty} C_{n}(x) \frac{t^{n}}{n!}=\frac{t}{\log (1+t)}(1+t)^{x}=\int_{0}^{1}(1+t)^{x+y} d y \quad(\text { see }[1-6])
$$

In [7], Kim defined the degenerate Cauchy polynomials by the generating function as the form in (4), and in this paper we shall denote these polynomials by $C_{n, \lambda}^{(1)}(x)$.
The following observation has been made in [7], Theorem 2.1 and Theorem 2.3.

Theorem 3 For $n \geq 0$, we have

$$
\begin{align*}
C_{n, \lambda}^{(1)}(x) & =\sum_{l=0}^{n} \lambda^{n-l} S_{1}(n, l) \int_{0}^{1}(x+y)_{l} d y \\
& =\sum_{l=0}^{n} \lambda^{n-l} S_{1}(n, l) C_{l}(x) \\
& =\sum_{l=0}^{n} \sum_{m=0}^{l} \lambda^{n-l} S_{1}(n, l)\binom{l}{m}(x)_{m} C_{l-m} . \tag{17}
\end{align*}
$$

We degenerate $C_{n, \lambda}^{(1)}(x)$ one more time, i.e., we get 2-times degenerate Cauchy polynomials $C_{n}(x)$. We have the following identity:

$$
\begin{align*}
& \int_{0}^{1}\left((1+\log (1+\log (1+\lambda t)))^{\frac{1}{\lambda}}\right)^{x+y} d y \\
& \quad=\frac{\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}}{\log \left(1+\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\right)}\left(1+\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\right)^{x} \\
& \quad=\sum_{n=0}^{\infty} C_{n, \lambda}^{(2)}(x) \frac{t^{n}}{n!} . \tag{18}
\end{align*}
$$

Then the middle term of (18) becomes

$$
\begin{align*}
& \frac{\log (1+\log (1+\lambda t))^{1 / \lambda}}{\log \left(1+(\log (1+\log (1+\lambda t)))^{1 / \lambda}\right)}\left(1+\log (1+\log (1+\lambda t))^{1 / \lambda}\right)^{x} \\
&=\left(\sum_{l=0}^{\infty} C_{l, \lambda}^{(2)} \frac{t^{l}}{l!}\right)\left(\sum_{m=0}^{\infty}(x)_{m}\left[\log (1+\log (1+\lambda t))^{1 / \lambda}\right]^{m} \frac{1}{m!}\right) \\
&=\left(\sum_{l=0}^{\infty} C_{l, \lambda}^{(2)} \frac{t^{l}}{l!}\right)\left(\sum_{m=0}^{\infty}(x)_{m} \sum_{j=m}^{\infty} \lambda^{-m} S_{1}(j, m) \frac{(\log (1+\lambda t))^{j}}{j!}\right) \\
&=\left(\sum_{l=0}^{\infty} C_{l, \lambda}^{(2)} \frac{t^{l}}{l!}\right)\left(\sum_{m=0}^{\infty} \sum_{j=0}^{m}(x)_{m} \lambda^{-m} S_{1}(j, m) S_{1}(i, j) \sum_{i=j}^{\infty} \frac{\lambda^{i} t^{i}}{i!}\right) \\
&=\left(\sum_{l=0}^{\infty} C_{l, \lambda}^{(2)} \frac{t^{l}}{l!}\right)\left(\sum_{i=0}^{\infty} \sum_{j=0}^{i} \sum_{m=0}^{j}(x)_{m} \lambda^{i-m} S_{1}(j, m) S_{1}(i, j) \frac{t^{i}}{i!}\right) \\
&= \sum_{n=0}^{\infty}\left(\sum_{i=0}^{n}\binom{n}{i} \sum_{j=0}^{i} \sum_{m=0}^{j}(x)_{m} \lambda^{i-m} S_{1}(j, m) S_{1}(i, j) C_{n-i, \lambda}^{(2)}\right) \frac{t^{n}}{n!} . \tag{19}
\end{align*}
$$

Hence, from (19), we can rewrite 2-times degenerate Cauchy polynomials as follows.
For each $n_{i} \in \mathbb{Z}_{+}$, where $i=0,1,2, \ldots$,

$$
\begin{align*}
C_{n_{3}, \lambda}^{(2)}(x)= & \sum_{n_{2}=0}^{n_{3}} \sum_{n_{1}=0}^{n_{2}} \sum_{n_{0}=0}^{n_{1}}\binom{n_{3}}{n_{2}}(x)_{n_{0}} \lambda^{n_{2}-n_{1}} \\
& \times S_{1}\left(n_{3}, n_{2}\right) S_{1}\left(n_{2}, n_{1}\right) S_{1}\left(n_{1}, n_{0}\right) C_{n_{3}-n_{2}, \lambda}^{(2)} . \tag{20}
\end{align*}
$$

We combine (20) and Theorem 1, and we have

$$
\begin{align*}
C_{n_{3}, \lambda}^{(2)}(x)= & \sum_{n_{2}=0}^{n_{3}} \sum_{n_{1}=0}^{n_{2}} \sum_{n_{0}=0}^{n_{1}}\binom{n_{3}}{n_{2}}(x)_{n_{0}} \lambda^{n_{2}-n_{1}} S_{1}\left(n_{3}, n_{2}\right) S_{1}\left(n_{2}, n_{1}\right) S_{1}\left(n_{1}, n_{0}\right) \\
& \times \sum_{m_{2}=0}^{n_{3}-n_{2}} \sum_{m_{1}=0}^{m_{2}}\left(\lambda^{n_{3}-n_{2}-m_{2}} S_{1}\left(n_{3}-n_{2}, m_{2}\right) S_{1}\left(m_{2}, m_{1}\right)\right. \\
& \left.\times \sum_{m_{0}=0}^{m_{1}} S_{1}\left(m_{1}, m_{0}\right) \frac{1}{m_{0}+1}\right) . \tag{21}
\end{align*}
$$

Inductively, we have $k$-times degenerate Cauchy polynomials as follows.

Theorem 4 For each $n_{i} \in \mathbb{Z}_{+}$, where $i=0,1, \ldots, k+1$, we have

$$
\begin{aligned}
C_{n_{k+1}, \lambda}^{(k)}(x) & =\sum_{n_{k}=0}^{n_{k+1}} \cdots \sum_{n_{0}=0}^{n_{1}}\binom{n_{k+1}}{n_{k}}(x)_{n_{0}} \lambda^{n_{k}-n_{1}} \prod_{j=0}^{k} S_{1}\left(n_{j+1}, n_{j}\right) C_{n_{k+1}-n_{k}, \lambda}^{(k)} \\
& =\sum_{n_{k}=0}^{n_{k+1}} \cdots \sum_{n_{0}=0}^{n_{1}}\binom{n_{k+1}}{n_{k}}(x)_{n_{0}} \lambda^{n_{k}-n_{1}} \prod_{j=0}^{k} S_{1}\left(n_{j+1}, n_{j}\right) \times \alpha,
\end{aligned}
$$

where

$$
\alpha=\sum_{m_{k}=0}^{n_{k+1}-n_{k}} \sum_{m_{k-1}=0}^{m_{k}} \cdots \sum_{m_{0}=0}^{m_{1}} \lambda^{n_{k+1}-n_{k}-m_{k}} S_{1}\left(n_{k+1}-n_{k}, m_{k}\right) \prod_{i=0}^{k-1} S_{1}\left(m_{i+1}, m_{i}\right) \frac{1}{m_{0}+1} .
$$

Observing the left-hand side of (18), we have the following:

$$
\begin{align*}
\int_{0}^{1} & \left(1+\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\right)^{x+y} d y \\
= & \sum_{l=0}^{\infty} \int_{0}^{1}(x+y)_{l} d y \frac{1}{l!}\left(\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\right)^{l} \\
= & \sum_{l=0}^{\infty} C_{l}(x) \sum_{m=l}^{\infty} \lambda^{-l} S_{1}(m, l) \frac{\log (1+\lambda t)^{m}}{m!} \\
= & \sum_{l=0}^{\infty} C_{l}(x) \sum_{m=l}^{\infty} \lambda^{-l} S_{1}(m, l) \sum_{j=m}^{\infty} S_{1}(j, m) \frac{\lambda^{j} t^{j}}{j!} \\
= & \sum_{l=0}^{\infty}\left(\sum_{m=0}^{j} \sum_{l=0}^{m} S_{1}(j, m) S_{1}(m, l) \lambda^{j-l} C_{l}(x)\right) \frac{t^{j}}{j!} . \tag{22}
\end{align*}
$$

By comparing the coefficients of the ends of (22), we have the following identity:

$$
\begin{align*}
C_{n, \lambda}^{(2)}(x) & =\sum_{m=0}^{n} \sum_{l=0}^{m} S_{1}(n, m) S_{1}(m, l) \lambda^{n-l} C_{l}(x) \\
& =\sum_{m=0}^{n} \sum_{l=0}^{m} S_{1}(n, m) S_{1}(m, l) \lambda^{n-l} \sum_{j=0}^{l}\binom{l}{j}(x)_{j} C_{l-j} . \tag{23}
\end{align*}
$$

By inductively $k$-times degenerating Cauchy polynomials, we obtain the following.

Theorem 5 For each $n_{i} \geq 0$ where $i=0,1, \ldots, k+1$, we have

$$
\begin{aligned}
C_{n_{k+1}, \lambda}^{(k)}(x) & =\sum_{n_{k}=0}^{n_{k+1}} \cdots \sum_{n_{1}=0}^{n_{2}} \lambda^{n_{k+1}-n_{1}}\left(\prod_{i=1}^{k} S_{1}\left(n_{i+1}, n_{i}\right)\right) C_{n_{1}}(x) \\
& =\sum_{n_{k}=0}^{n_{k+1}} \cdots \sum_{n_{1}=0}^{n_{2}} \sum_{n_{0}=0}^{n_{1}} \lambda^{n_{k+1}-n_{0}}\left(\prod_{i=1}^{k} S_{1}\left(n_{i+1}, n_{i}\right)\right)(x)_{n_{0}} C_{n_{1}-n_{0}} .
\end{aligned}
$$

By using (3), the middle term of (18) can be expressed by higher order Bernoulli polynomials,

$$
\begin{aligned}
& \sum_{m=0}^{\infty} B_{m}^{(m)}(x+1) \frac{1}{m!}\left((\log (1+\log (1+\lambda t)))^{\frac{1}{\lambda}}\right)^{m} \\
& \quad=\sum_{m=0}^{\infty} B_{m}^{(m)}(x+1) \sum_{j=m}^{\infty} \lambda^{-j} S_{1}(j, m) \frac{(\log (1+\lambda t))^{j}}{j!}
\end{aligned}
$$

$$
\begin{aligned}
& =\sum_{m=0}^{\infty} B_{m}^{(m)}(x+1) \sum_{j=m}^{\infty} \lambda^{-j} S_{1}(j, m) \sum_{n=j}^{\infty} S_{1}(n, j) \frac{\lambda^{n} t^{n}}{n!} \\
& =\sum_{n=0}^{\infty} \sum_{j=0}^{n} \sum_{m=0}^{j} B_{m}^{(m)}(x+1) \lambda^{-j} S_{1}(n, j) S_{1}(j, m) \frac{t^{n}}{n!}
\end{aligned}
$$

Thus

$$
C_{n, \lambda}^{(2)}(x)=\sum_{j=0}^{n} \sum_{m=0}^{j} B_{m}^{(m)}(x+1) \lambda^{-j} S_{1}(n, j) S_{1}(j, m)
$$

Inductively, we have the representation of $k$-times degenerate Cauchy polynomials via higher order Bernoulli polynomials.

Theorem 6 For each $n_{i} \geq 0$ where $i=0,1, \ldots, k+1$, we have

$$
C_{n_{k+1}, \lambda}^{(k)}(x)=\sum_{n_{k}=0}^{n_{k+1}} \cdots \sum_{n_{1}=0}^{n_{2}} B_{n_{1}}^{\left(n_{1}\right)}(x+1) \lambda^{n_{k+1}-n_{1}} \times \prod_{i=1}^{k} S_{1}\left(n_{i+1}, n_{i}\right) .
$$

## In particular,

$$
C_{n_{k+1}}^{(k)}=\sum_{n_{k}=0}^{n_{k+1}} \cdots \sum_{n_{1}=0}^{n_{2}} B_{n_{1}}^{\left(n_{1}\right)}(1) \lambda^{n_{k+1}-n_{1}} \times \prod_{i=1}^{k} S_{1}\left(n_{i+1}, n_{i}\right)
$$

As is well known, the Cauchy polynomials of the second kind are given by the generating function

$$
\begin{equation*}
\int_{0}^{1}(1+t)^{-y+x} d y=\frac{t}{(1+t) \log (1+t)}(1+t)^{x}=\sum_{n=0}^{\infty} \widetilde{C}_{n}(x) \frac{t^{n}}{n!} \quad \text { (see [7]). } \tag{24}
\end{equation*}
$$

Kim defined the degenerate Cauchy polynomials of the second kind as follows:

$$
\begin{align*}
\int_{0}^{1}\left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)^{-y+x} d y & =\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}\left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)^{x}}{\log \left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)\left(1+\log (1+\lambda t)^{\frac{1}{\lambda}}\right)} \\
& =\sum_{n=0}^{\infty} \widetilde{C}_{n, \lambda}(x) \frac{t^{n}}{n!} \quad \text { (see [7]). } \tag{25}
\end{align*}
$$

The following is well known for describing degenerate Cauchy polynomials of the second kind. We record some results as a theorem for convenience.

Theorem 7 (Kim [7]) For $l \geq 0$, we have

$$
\begin{aligned}
\widetilde{C}_{l, \lambda}(x) & =\sum_{j=0}^{l} \lambda^{l-j} S_{1}(l, j) C_{j}(x) \\
& =\sum_{j=0}^{l} \lambda^{l-j} S_{1}(l, j) B_{j}^{(j)}(x)=\int_{0}^{1}(x-y)_{l} d y
\end{aligned}
$$

Now we consider degenerating one more time the degenerate Cauchy polynomials of the second kind as follows:

$$
\begin{align*}
& \int_{0}^{1}\left(1+\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\right)^{x-y} d y \\
& \quad=\frac{\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\left(1+\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\right)^{x}}{\log \left(1+\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\right)\left(1+\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\right)}=\sum_{n=0}^{\infty} \widetilde{C}_{n, \lambda}^{(2)}(x) \frac{t^{n}}{n!} \tag{26}
\end{align*}
$$

Observing the left-hand side of (26), we have

$$
\begin{align*}
\int_{0}^{1} & \left(1+\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\right)^{x-y} d y \\
= & \sum_{l=0}^{\infty} \int_{0}^{1}(x-y)_{l} d y\left(\log (1+\log (1+\lambda t))^{\frac{1}{\lambda}}\right)^{l} \frac{1}{l!} \\
= & \sum_{l=0}^{\infty} \lambda^{-l} \widetilde{C}_{l, \lambda}(x) \sum_{n=l}^{\infty} S_{1}(n, l) \frac{(\log (1+\lambda t))^{n}}{n!} \\
= & \sum_{n=0}^{\infty} \sum_{l=0}^{n} \lambda^{-l} \widetilde{C}_{l, \lambda}(x) S_{1}(n, l) \frac{\log (1+\lambda t)^{n}}{n!} \\
= & \sum_{j=0}^{\infty} \sum_{n=0}^{j} \sum_{l=0}^{n} \lambda^{j-l} S_{1}(j, n) S_{1}(n, l) \widetilde{C}_{l, \lambda}(x) \frac{t^{j}}{j!} \tag{27}
\end{align*}
$$

Thus for $j \geq 0$,

$$
\widetilde{C}_{j, \lambda}^{(2)}(x)=\sum_{n=0}^{j} \sum_{l=0}^{n} \lambda^{j-l} S_{1}(j, n) S_{1}(n, l) \widetilde{C}_{l, \lambda}(x) .
$$

Now we apply the result of (27) and Theorem 7, and we can rewrite $\widetilde{C}_{j, \lambda}^{(2)}(x)$ as follows.
For $j, n, l \geq 0$, we have

$$
\begin{aligned}
\widetilde{C}_{j, \lambda}^{(2)}(x) & =\sum_{n=0}^{j} \sum_{l=0}^{n} \sum_{i=0}^{l} \lambda^{j-i} S_{1}(j, n) S_{1}(n, l) S_{1}(l, i) \widetilde{C}_{i}(x) \\
& =\sum_{n=0}^{j} \sum_{l=0}^{n} \sum_{i=0}^{l} \lambda^{j-i} S_{1}(j, n) S_{1}(n, l) S_{1}(l, i) B_{i}^{(i)}(x) .
\end{aligned}
$$

Inductively, we get the following identity for $k$-times degenerate Cauchy polynomials of the second kind.

Theorem 8 For $n_{i} \geq 0$, where $i=0,1, \ldots, k+1$, we have

$$
\begin{aligned}
\widetilde{C}_{n_{k+1}, \lambda}^{(k)}(x) & =\sum_{n_{k}=0}^{n_{k+1}} \sum_{n_{k-1}=0}^{n_{k}} \cdots \sum_{n_{1}=0}^{n_{2}} \lambda^{n_{k+1}-n_{1}}\left(\prod_{i=1}^{k} S_{1}\left(n_{i+1}, n_{i}\right)\right) \widetilde{C}_{n_{1}, \lambda}(x) \\
& =\sum_{n_{k}=0}^{n_{k+1}} \sum_{n_{k-1}=0}^{n_{k}} \cdots \sum_{n_{1}=0}^{n_{2}} \lambda^{n_{k+1}-n_{1}}\left(\prod_{i=1}^{k} S_{1}\left(n_{i+1}, n_{i}\right)\right) B_{n_{1}}^{\left(n_{1}\right)}(x) .
\end{aligned}
$$

Moreover, we have the following:

$$
\begin{aligned}
\widetilde{C}_{n_{k+1}, \lambda}^{(k)}(x) & =\sum_{n_{k}=0}^{n_{k+1}} \cdots \sum_{n_{0}=0}^{n_{1}} \lambda^{n_{k+1}-n_{0}} \prod_{i=0}^{k} S_{1}\left(n_{i+1}, n_{i}\right) \widetilde{C}_{n_{0}}(x) \\
& =\sum_{n_{k}=0}^{n_{k+1}} \cdots \sum_{n_{0}=0}^{n_{1}} \lambda^{n_{k+1}-n_{0}} \prod_{i=0}^{k} S_{1}\left(n_{i+1}, n_{i}\right) B_{n_{0}}^{\left(n_{0}\right)}(x) .
\end{aligned}
$$

From the left-hand side of (26), we have

$$
\begin{align*}
\widetilde{C}_{j, \lambda}^{(2)}(x) & =\sum_{n=0}^{j} \sum_{l=0}^{n} \lambda^{j-l} S_{1}(j, n) S_{1}(n, l) l!\int_{0}^{1}\binom{x-y}{l} d y \\
& =\sum_{n=0}^{j} \sum_{l=0}^{n} \lambda^{j-l} l!S_{1}(j, n) S_{1}(n, l)(-1)^{n} \int_{0}^{1}\binom{y+n-1-x}{n} d y \\
& =\sum_{n=1}^{j} \sum_{l=1}^{n} \sum_{m=1}^{l} \frac{l!}{m!} \lambda^{j-l} S_{1}(j, n) S_{1}(n, l)(-1)^{m}\binom{n-1}{m-1} C_{m}(-x) . \tag{28}
\end{align*}
$$

Therefore, from (28), we inductively obtain the following theorem.

Theorem 9 For $n_{i} \geq 0$, where $i=0,1, \ldots, k+1$, we have

$$
\widetilde{C}_{n_{k+1}, \lambda}^{(k)}(x)=\sum_{n_{k}=1}^{n_{k+1}} \cdots \sum_{n_{0}=1}^{n_{1}} \frac{n_{1}!}{n_{0}!} \lambda^{n_{k+1}-n_{1}}\left(\prod_{i=1}^{k} S_{1}\left(n_{i+1}, n_{i}\right)\right)(-1)^{n_{0}}\binom{n_{k}-1}{n_{0}-1} C_{n_{0}}(-x) .
$$

## Competing interests

The authors declare that they have no competing interests.

## Authors' contributions

All authors contributed equally to this work. All authors read and approved the final manuscript.

## Author details

${ }^{1}$ Department of Mathematics Education, Kyungpook National University, 80 Daehakro, Bukgu, Daegu, 41566, S. Korea. ${ }^{2}$ Department of Mechanical System Engineering, Dongguk University, 123 Dongdae-ro, Gyungju-si, Gyeongsangbuk-do, 38066, S. Korea.

## Acknowledgements

Authors wish to express their sincere gratitude to Professor Ravi P Agarwal and the referees for providing very valuable comments and suggestions. The referees' comment was very useful in revising our paper.

Received: 20 August 2015 Accepted: 7 October 2015 Published online: 16 October 2015

## References

1. Comtet, L: Advanced Combinatorics. Reidel, Dordrecht (1974)
2. Kim, DS, Kim, T: Higher-order Cauchy of the first kind and poly-Cauchy of the first kind mixed type polynomials. Adv. Stud. Contemp. Math. 24, 512-527 (2013)
3. Kim, DS, Kim, T, Dolgy, DV: A note on degenerate Bernoulli numbers and polynomials associated with $p$-adic invariant integral on $\mathbb{Z}_{p}$. Appl. Math. Comput. 259, 198-204 (2015)
4. Kim, T: Barnes' type multiple degenerate Bernoulli and Euler polynomials. Appl. Math. Comput. 258, 556-564 (2015)
5. Kim, T: Multiple p-adic L-functions. Russ. J. Math. Phys. 13(2), 151-157 (2008)
6. Merlini, D, Sprugnoli, R, Verri, MC: The Cauchy numbers. Discrete Math. 306, 1906-1920 (2006)
7. Kim, T: On the degenerate Cauchy numbers and polynomials. Proc. Jangjeon Math. Soc. 18(3), 307-312 (2015)
8. Bayad, A, Kim, T: Identities involving values of Bernstein, $q$-Bernoulli, and $q$-Euler polynomials. Russ. J. Math. Phys. 18(2), 133-143 (2011)
9. Bayad, A, Kim, T: Identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 20(2), 247-253 (2010)
10. Carlitz, L: Degenerate Stirling, Bernoulli and Eulerian numbers. Util. Math. 15, 51-88 (1979)
11. Roman, S: The Umbral Calculus. Dover, New York (2005)
12. Shiratani, K, Yokoyama, SS: An application of p-adic convolutions. Mem. Fac. Sci., Kyushu Univ., Ser. A, Math. 36(1), 73-83 (1982)
13. Sprugnoli, R: Riordan arrays and combinatorial numbers. Discrete Math. 132, 267-290 (1994)
14. Carlitz, L: A degenerate Staudt-Clausen theorem. Arch. Math. (Basel) 7, 28-33 (1956)
15. Lim, D: Representations of special numbers and polynomials with $q$-parameter via $p$-adic $q$-integral on $\mathbb{Z}_{p}$. PhD thesis, Kyungpook National University (2015)
16. Kim, DS, Kim, T: Daehee numbers and polynomials. Appl. Math. Sci. (Ruse) 7(120), 5969-5976 (2013)
17. Kim, DS, Kim, T, Lee, SH, Seo, JJ: Higher-order Daehee numbers and polynomials. Int. J. Math. Anal. 8(6), 273-283 (2014)
18. Kim, D, Kim, T: A note on poly-Bernoulli and higher-order poly-Bernoulli polynomials. Russ. J. Math. Phys. 22(1), 26-33 (2015)
19. Kim, T, Mansour, T: Umbral calculus associated with Frobenius-type Eulerian polynomials. Russ. J. Math. Phys. 21(4), 484-493 (2014)
20. Kim, DS, Kim, T, Komatsu, T, Lee, SH: Barnes-type Daehee of the first kind and poly-Cauchy of the first kind mixed-type polynomials. Adv. Differ. Equ. 2014, 140 (2014)
21. Kim, T, Seo, JJ: A note on the partially degenerate Bernoulli polynomials. J. Math. Anal. 6 (2015, in press)

## Submit your manuscript to a SpringerOpen ${ }^{\bullet}$ journal and benefit from:

- Convenient online submission
- Rigorous peer review
- Immediate publication on acceptance
- Open access: articles freely available online

High visibility within the field

- Retaining the copyright to your article

Submit your next manuscript at $>$ springeropen.com

